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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
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(a) Name the philosopher who initiated free
enquiry in philosophical domain.
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(b) Give one reason for regarding Descartes as
the “father of modern philosophy’.
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(c)

(d)

(e)

(1)

(g)
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(2)

Name the entity whose existence can be
known with certainty according to Descartes.
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State one reason for which Descartes can be
called a typical dualist.
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Name the philosopher who declared that
‘qu and Nature are one’.
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How many attributes does the substance have
according to Spinoza?
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Descartes/Spinoza/Leibniz was regarded as
a hideous atheist.

( Choose the correct answer )
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( Continued )

(3)

(h) Who defined substance as a centre of force?

(i)

()

2. Give short answers to the following :
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Name the lowest kind of monad according
to Leibniz.
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What is the meaning of ‘Actus Purus’
according to Leibniz?
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(a) What are the two kinds of activity of the

monads according to Leibniz?
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(b) Name the two attributes of substance which
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the human mind can know as laid down by
Spinoza. .
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(4)

(c) To whom the term ‘causa sui’ is applied

(d)

(e)

Answer any four of the following :

according to Spinoza? Explain its meaning.
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State the meaning of ‘monism’. Name one
monistic philosopher.
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State two important points about the Cogito
(Self) in the philosophy of Descartes.
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P w91 |

5x4=20
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a
(a) State aboyt the four rules of Descartes’
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method of philosophy.
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{ Continued )

(b)

(c)

(d)

(e)
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(5)

““Every determination is negation.”” Explain
the statement with reference to its context.
“RfReFaeR S ' TRPRII I PR
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Explain the nature of Cartesian doubt
distinguishing it from psychological doubt.
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Write a brief note on the nature of God
or Supreme Monad in the philosophy of

Leibniz.
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Define substance after Spinoza. State three

features of substance. 2+3=5
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(6) (Bs)
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f-felspcranyiousot the folowing 10x4=40 (e) Write an essay on the monistic philosophy of
oo AR R GIe vifsoR T fors Spinoza. Is it pantheistic? 6+4=10
(a) Explain the meaning of cogito ergo sum RO GPgdR T 8RS G I fed |
(I think, therefore, I exist) and also determine PofzaaE e FeHRam = 2

the position it occupies in Cartesian

philosophy. 5+5=10
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(b) Examine critically Descartes’ philosophical
method.
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(c) How does Descartes solve the problem of
mind-body relation? Explain.
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(d) Discuss critically Spinoza’s views on

‘attributes’ and ‘modes’.
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( Continued )

(1)
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Explain Leibniz’s theory of monads. What is
the meaning of the expression ‘monads are
windowless’? 6+4=10
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Or / 134T
Give an account of the doctring of
pre-established harmony of Leibniz. 10
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